Lesson 11.1: Sequences and Series

Sequence: a pattern of numbers whose domain is the set of
positive integers (i.e. 1, 2, 3,...)

Example: 2, 7,12, 17,...

nth Term Definition: a rule that produces the nth term when plugging n
into the formula.  (exgWwest Lefmirion)

Example: {51 — 9}

Recursive Definition: a rule that uses the preceding term to define the

next term of the sequence. The definition must have two parts: (1) the first
term and (2) the recursive formula.
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Write the first 5 terms of the following sequence.
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Write the first 5 terms of the following sequence.
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Write the first 5 terms of the following sequence.

a; =2 ‘K Q,Q_L,Uh-(s‘:\f’a"
L@:{iﬁv‘ws Yew
o, L
q‘)." (2) - c Y(2)-4=4
Lt(tﬁf :
"\\-\ L‘(”-) "i '%
(—\__/



Write the first 5 terms of the following sequence.

a1 — 2 M\.&(S\V‘m
a, — —3
?v"m'\.ls
AN
T2
Q-L: -‘5

A, 2(-'5) +2L <-4

Ay 2(-4) (-3) = -\

0\513(-\1)4- -y« -2
2,-% -4,-\ -2



Summation Notation
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Find the sum.
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Find the sum.
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Write the following in summation notation.
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Write the following in summation notation.
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Write the following in summation notation.
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